MAT 035, Quiz #4, Fall 2016

Instructions: Show all work to receive full credit. You should note a
functions used, their inputs and outputs. | cannot grade work if | dd

all parts of each questions, including reque
explanations. Be as thorough as possible.

from. Be sure complet '

1. Solveforxinz=—=-

2. Solve 5x — 9 </16. Write the solution a) on a number line,

+q 4

3. You have $100,300 in retirement savings, and you want to invest it in three different investment
vehicles. You have decided to invest $20,000 in stocks, but

money in moneY in government bonds as in treasury bills. |
savings portfolio is $6000, how much money is invested in g

bills?
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X= 20000 3K=60000

stocks! 20000, baay: bgooo | bijls ! |Zg 000

ny formulas used or calculator
n’t know where an answer came
sts for interpretation and

b} in interval notation.
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want to invest three times as much
[ the total interest earned on your
overnment bonds and in treasury




